I AERFEDOENE
F1 [] SaleotilzBEz <Eau,
O | R 10 20 30 40 50 60 (%)
1 B 1,001 | 44.3%
2 ik 1,247 | 55.2% 1552
(HHE[E] %) 11 0.5% 05
& 2,259 | 100. 0%
F2 [F#] HiazoFimiEsun< >TTh,
&A% | Mk 10 20 30 (%)
1 208t 235 | 10.4% 1104
2 305t 418 | 18.5% 185
3 408k 366 | 16.2%
4 50mEM% 1445 | 19.7%
5  60mEft 492 | 21.8%
6 T0mELL 293 | 13.0% 1130
(#EEIE) 10 0.4%
& 2,259 | 100. 0%




F3 [lE] HAalooREE, ROSGETIEIENITRY £9h,

i Rl ke # AR kR
1 P ik o
(BERT, Fralile, KSEEEE, (94R 7 &) B 19%
2 B BRI o
(B AT RS o EAY, BRI 72 &) 1091 4.8% A
o o AN (FH) 852 37.7%
3 5 - R o
(MR B, RSB, HRRE, R, TRz ) AT | 18.5%
4 JRGE - EPE - S EH ) o
UEE, TE, WA, SEF, (FRA7 ) 283 | 12.5%
5  REMOKPEZENCRE 35 1.5%
B GH 243 10. 7%
6 HE¥ - P — v REMNLFH 208 9.2%
7 FHEITEH S L TV D T 406 18.0% 2 T 406 18. 0%
8 sR— MR 243 10. 8% sX— MMEEFEE 243 10. 8%
9 A 46 2.0% AR 46 2. 0%
10 MKk 405 17.9% JHE ik 405 17.9%
11 Z DAl 49 2.2% = D 49 2.2%
(0[] 225) 15 0.7% (0[] 225) 15 0.7%
= &t 2,259 | 100. 0% “ &t , 259 | 100. 0%
n =2, 259 0 10 20 (%)
) e F
(Ehl, Pt RPHEEFZ, (GE70 L)
PRIk
(BERITRoHEFTOEE, MikER )
s - Pl 185

(—ixEg e, AFEa, b, RE+5, FEAz L)
HRE - ZEPE - J7 Bk

U5&, TH, WA, EBF, EEARL)
BEAROK PESEAE S

HEZE - — R ERFY

FEHICHEA L TV D T

S R

R

S I

179

< At

S




F 4 [FEWK] O OFRMRIL EIUTEE LET D,

O | mMEAkke
1 z(g&;f;) L 215 | 9.5%
2 ?ﬁﬁ?ﬁ%) 577 | 25.5%
3 ﬁu;;;g@%g b 929 | 41.1%
! fﬂ:&ﬁ%ﬁi%%j?ﬁ% i I
5 fﬁé&;ﬁ&;gﬁ%&% 244 | 10.8% ALY
6 o 76 | 3.4%
(EI=1%) 22 | 1.0%
& 3 2,259 | 100.0%

F5 [EEEK] HaziE, FEHERICBEZWVWICAR> TEDL BUWLINIRY £9h,

Ho% | Rkt 0 10 20 30 40 (%)

1 HAERND 771 | 34.1%
2  20fLE 835 | 37.0%

3 1 0L~ 2 044 281 | 12.4% 124
4 SHEDLE~1 ORI 148 6.6%
5  BAERI 194 8.6%
(JE[E] %) 30 1.3%
& 3 2,259 | 100.0%




F 6 [E{Hik]

SRTEDBEEZVONIES 5 TT I,

7

IR DR

AJT L) | AFEne, DRIEHBA S A2 [ BGE0 - [ ] EREY - [ S © i S -tk
AT (A) | Argne, DRIEEBASH A2 [ 18680 - [ FR0EY - [ S L o ik
TOER M g | S K, TR, B X
vaOER R s | SR, 221X
AR M | AT, A X
b #B k| SRS, EAHIK, R, B
AT T it | AT PR, FRT PN X
B S S A ke Ee o 1? 2? 3? (9206)
1 AT (B 298 13. 2%
2 AT UEED 503 22. 3%
3 TS M InE 229 10. 1%
4 VE S Hb e 354 15. 7%
5 T S Mt InE 325 14. 4%
6 A Hi ok 263 11. 6%
7 CEET PN - 7RI PN B 194 8. 6%
(IR [=1257) 93 1. 1%
= G 2,259 | 100. 0%
s Hhx]
A % i ke e 3? (20
1 AT 570 25. 2%
2 SR 124 5. 5%
3 K25 B 107 4. 7%
4 SEAT 104 1. 6%
5 T 5L 92 4. 126
6 A1 147 6. 5%
7 T AT 33 1.5%
8 S 176 7.8%
o ] A 57 2. 5%
10 EE 16 0.7%
11 A = 14 0. 6%
12 B 1 L1 94 4. 2%
1 3 2zl 260 11. 5%
14 FeE 178 7.9%
15 by 19 2.2%
16 TPy 145 6. 4%
[C L EIE=) 93 4. 1%
o " 2, 259 100. 0%




